BORILLA oPORTS

Professional Dumbbell Stands (100945)

< >
)
— =7
O 0)
: L @
o) | O
0)
)
D b\ﬁ
%

oJooco ool

=
@@@@@@9[&7
]




SHRORILLA oPOATS

Washer: (& 10)

©

18X

Hex Bolt: (M10%20)

p

16X

T —=

Hexagon socket head
cap screws : (M10%20)

R

2X




Maximum load of
single barbell

hook: 250kg = | Maximum total
-] capaciy of dipping i
§ bar: 400kg gﬁ

Maximum load of Eé 5

single barbell o P

bar: 250kg

Joeooo

ee@eeee[M

[ ]
eeee@@e[A@
@
1820mm

Maximum load 400KG






0

oNoNoNoRoNoNoNoNoNoRoNoNoNoNoNoNoNoNoNoNoNoNoNONONS,

©) [

Washer (& 10) Hex Bolt (M10%20)
—-8PCS —8PCS

0

0
OO OO OOODOOOOOOOOOOOO0O00CO0O00O0




[

!

i

©

Washer (d 10) Hex Bolt (M10+%20)

—8PCS

—8PCS




D

Hexagon socket head

©

Washer (& 10) cap screws (M10%20)

—2PCS

—2PCS




